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Comparing Unit Rates | Word Problems

1) Atotal of 654 people visited the carnival in 6 hours on Friday. The next day, the event
attracted 968 people in 8 hours. Which day had fewer people visting the carnival?

2) Stella was surfing the internet to get a good deal on serving bowls. The following deals
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5)  Wilma’s and Ann’s orchards had a harvest of 126 crates and 276 crates of oranges respectively.
If Wilma had 6 citrus tree and Ann had 12 citrus trees, whose orchard gave the higher yield
per tree?
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